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QUESTION 1

Given the following CREATE TABLE statement:
CREATE TABLE PROJ (PROJNO
CHAR(6) NOT NULL, PROIJNAME
VARCHAR(24) NOT NULL, DEPTNO
CHAR(3),

RESPEMP CHAR(6) NOT NULL,
PRSTAFF DECIMAL(5,2) ,
PRSTDATE DATE,

PRENDATE DATE,

MAJPROJ CHAR(6) NOT NULL,
PRIMARY KEY (PROJNO),

FOREIGN KEY (DEPTNO) REFERENCES DEPARTMENT (DEPTNO) ON DELETE RESTRICT)) IN
DB2DB01.PROJTS;

the PROJ table will be marked as unavailable until:

A. thetablespace PROJTS is STARTed.

B. a unique index is created onPROJ(PROJNO).

C. a unique index is created onDEPARTMENT(DEPTNO).

D. both the primary key index and foreign key index are created on table PROJ.

Correct Answer: B

QUESTION 2

The output below is the result of a -DIS THD(*) command.

16.32.57 DB1G DISPLAY THREAD(*)

16.32.57 STC00090 DSNV401I DB1G DISPLAY THREAD REPORT FOLLOWS - 16.32.57 STC00090 DSNV402I
DB1G ACTIVE THREADS - NAME ST A REQ ID AUTHID PLAN ASID TOKEN BATCH T * 1 PUPPYDML USER001
DSNTEP3 0025 30 PT * 641 PUPPYDML USER001 DSNTEP3 002A 40 PT * 72 PUPPYDML USERO001 DSNTEP3

002A 39 PT * 549 PUPPYDML USERO001 DSNTEP3 002A 38 PT * 892 PUPPYDML USERO001 DSNTEP3 002A 37 PT *
47 PUPPYDML USERO001 DSNTEP3 002A 36 PT * 612 PUPPYDML USER001 DSNTEP3 002A 35
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Which of the following is true?

A. The originating thread is allied and non-distributed.

B. The threads with a STATUS=PT are in DEALLOCATION.

C. The parallel threads are in either IDENTIFY or SIGNON status.

D. The thread with TOKEN=40 is in a DRDA conversation with a two phase commit.

Correct Answer: A

QUESTION 3

If an object is created statically by a role within a trusted context and the ROLE AS OBJECT OWNER clause is
specified, who becomes the object owner when executing the package?

A. Therole

B. The schema name

C. The owner keyword

D. The current SQLID (if set)

Correct Answer: A

QUESTION 4

What would be a good example of the use of an INSTEAD OF trigger?

A. An application will update a column in a view built on an inner join.

B. An application needs to delete all rows of one specific type from a table.

C. An application will update a column in a table that participates in an outer join.

D. An application needs to SELECT information from a joined table without listing all columns.

Correct Answer: A

QUESTION 5

A DBA would like to append a new integer column (GEOCODE) to a materialized query table (SUMSALES). Which of
the following statements would need to be executed first?

A. ALTER TABLE SUMSALES SET MAINTAINED BY USER,;
B. ALTER TABLE SUMSALES DROP MATERIALIZED QUERY;

C. ALTER TABLE SUMSALES DISABLE QUERY OPTIMIZATION;
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D. ALTER TABLE SUMSALES ADD COLUMN GEOCODE INTEGER,;

Correct Answer: B

QUESTION 6

There are dynamic SQL statements running in a subsystem that need to have their host variables reoptimized at run-
time, however the distribution of the values does not change very much between execution. What is the most optimal
bind parameter for these statements?

A. REOPT(NONE)

B. REOPT(ONCE)

C. REOPT(VARS)

D. REOPT(ALWAYS)

Correct Answer: B

QUESTION 7
When a user creates the following unique index on the EMPLOYEE table:

CREATE UNIQUE INDEX EMPNAME ON EMPLOYEE SUBSTR(FIRSTNAME,1,1) CONCAT \\. \\' CONCAT
LASTNAME);

The employee table contains two rows with employee names "John Smith" and "Alex Smith". A user attempts to insert
the following values for columns FIRSTNAME, LASTNAME into the table.

Which of the following will be successfully inserted?
A. Joe Smith

B. Jack Smith

C. Barry Smith

D. Alfred Smith

Correct Answer: C

QUESTION 8

Why is the following predicate a stage 2 predicate? WHERE SUBSTR(CHAR_COL1,1,19) = SUBSTR(CAST
(CAST(546321857. AS DEC(19)) AS CHAR(20)),1,19)

A. Column expressions are a stage 2 process.
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B. The CAST expressions makes the predicate stage 2.
C. DB2 character matching cannot exceed 18 characters.
D. Any numeric to character conversion forces the predicate to be stage 2.

Correct Answer: A

QUESTION 9

Given the following utility control statement:
LOAD DATA

RESUME YES

SHRLEVEL CHANGE

INTO TABLE ADMFO01.TABLEOO1
(ID_PARTITION POSITION(1) CHAR(Y),
CD_PLANT POSITION(2) CHAR(5),
NO_PART_BASE POSITION(7) CHAR(9),
NO_PART_PREFIX POSITION(16) CHAR(7),
NO_PART_SUFFIX POSITION(23) CHAR(8),
NO_PART_CONTROL POSITION(31) CHAR(3)

)

If the LOAD utility is used to add an additional 100,000 rows of data into the ADMFOO1.TABLEOO1 table, which of the
following statements is correct?

A. Freespace is not honored during the loading of data.

B. Data is loaded starting at the end of the existing data.

C. All loaded data is rolled back if the utility terminates abnormally.

D. The BUILD phase will rebuild all indexes on the ADMFOO01.TABLEOQOL1 table.

Correct Answer: A

QUESTION 10

Three AFTER triggers (TRIG1, TRIG2, TRIG3) have been created on the same table and are designed to run in
sequential order TRIG1 through TRIG3. Each of these triggers were bound with ISOLATION(CS),
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CURRENTDATA(YES) and EXPLAIN(NO). After their first use, there are concerns about concurrency issues on
returned data and questions about the access path of the triggered SQL. What would be the minimum number of
parameter changes needed to resolve the concurrency issues?

A. Rebind all three triggers specifyinglSOLATION(CS) and EXPLAIN(YES).

B. Rebind all three triggers specifyingCURRENTDATA(NO) and EXPLAIN(YES).

C. Rebind all three triggers specifyingISOLATION(RR), CURRENTDATA(NO), and EXPLAIN(NO).

D. Rebind all three triggers specifyinglISOLATION(RS), CURRENTDATA(NO), and EXPLAIN(YES).

Correct Answer: B

QUESTION 11
Which of the following set of statistics could indicate that an application is suffering from excessive I/O wait time?

A. Accounting class 1 elapsed time of 2 minutes, accounting class 2 CPUtime of 4 minutes, accounting class 3 time of
.5 seconds

B. Accounting class 1 elapsed time of 2 minutes, accounting class 2 elapsed time of 2 minutes, accounting class 3time
of .5 seconds

C. Accounting class 1 elapsed time of 2 minutes, accounting class 2 elapsed time of 10 seconds, accounting class
3time of .5 seconds

D. Accounting class 1 elapsed time of 2 minutes, accounting class 2 CPU time of .5 seconds, accounting class 3 time of
1 minute 50 seconds

Correct Answer: D

QUESTION 12

A company uses TRUSTED CONTEXT "ERP1" and ROLE "ERP_ROLE" as a security mechanism to limit security
exposure for an application. All the DB2 objects (databases, table spaces, tables, indexes, views, plans and packages)
have been created by that ROLE. The ROLE "ERP_ROLE" has been assigned to User ID "DBA01" in order to perform
DBA related tasks. When the user "DBA01" leaves the company, the authorization ID is removed. Which of the following
statements are correct? (Select two answers)

A. None of these DB2 objects need to be recreated to re-grant the privileges.

B. The related plans and packages have to be recreated and the privileges re-granted.

C. When removing user "DBAOQL" privileges, none of these DB2 objects need to be dropped.

D. Only the related databases, table spaces, tables, indexes and views need to be recreated and the privileges re-
granted.

E. To remove the privileges of user "DBAQOL" on these related plans and packages, they have to be dropped and as a
result all associated privileges are revoked.
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Correct Answer: AC

000-732 PDF Dumps 000-732 Study Guide 000-732 Exam Questions

000-732 PDF Dumps | 000-732 Study Guide | 000-732 Exam Questions 718


https://www.pass4itsure.com/000-732.html
https://www.pass4itsure.com/000-732.html
https://www.pass4itsure.com/000-732.html
https://www.pass4itsure.com/000-732.html
https://www.pass4itsure.com/000-732.html
https://www.pass4itsure.com/000-732.html

VCE & PDF https://www.pass4itsure.com/000-732.html

2021 Latest passditsure 000-732 PDF and VCE dumps Download
PassditSure.com

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success

100% Money Back Guarantee

365 Days Free Update

Instant Download After Purchase

24x7 Customer Support

Average 99.9% Success Rate

More than 800,000 Satisfied Customers Worldwide

Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4itsure.com/allproducts

Need Help

Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Submit A Ticket

One Year Free Update Money Back Guarantee Security & Privacy

Free update is available within One To ensure that you are spending on We respect customer privacy. We
Year after your purchase. After One quality products, we provide 100% use McAfee's security service to
Year, you will get 50% discounts for money back guarantee for 30 days provide you with utmost security for
updating. And we are proud to from the date of purchase. your personal information & peace

boast a 24/7 efficient Customer of mind.
Support system via Email.

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.
Copyright © passditsure, All Rights Reserved.

000-732 PDF Dumps | 000-732 Study Guide | 000-732 Exam Questions 8/8


https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4itsure.com/000-732.html
https://www.pass4itsure.com/000-732.html
https://www.pass4itsure.com/000-732.html

